1)
2)

Nz
0=
e
2
x
10

Ofth

s
O
10

L

ol
=

b

ol



| 200044 A2 XIS OLTHE JH |

-20.394+1,549(H 2)+0.76(H &)

pJ=)

ol
180

4
IH

0}
KH0

JI

<

g

pay

d 0

byl

| 2K

o)
w0
&
W]
=

J

@F (i) Of

o A
o T

E

J

u

(i) Ot

It “OHIFE It red wine X

JHE =J10 XA OF 12

b

AN UL E

Bl

LH
=
0
&l
W
I=

JI
Ny

.

0J

|
=

AL HOE A= EE

&l

S 2 2l (confounding factor)2 =2

)
s

0l0
o3

B
o)
010

-l

KT



[ 2000 N2 229l OLIHE 12 |

-20.291+ I
1,538(% =)-137(H &@)+2(H X 7 2)

pJ=)

22| &
Hel £ S =0 (iii) OtLIE &

=
—

(i) OIIHE ¢1& S 7|

E HA
O T,

2| A2 () O}

ol

<[
0.
KO
K-
ol
180

i

AI32

-
1o

B

i

E

J

= Ol

0

X2 2)0ll =

A
T,la-

0l0
K

%
Al

%
oJ

A0

mll

-

<0

Ol
A
oln
o3

A
<t
oll
70
d

1

Bl



1. 2d820AM2 s2HE5 Atdl

[

tol

H=Z4: =8 on BB ]

.+ REEINZS WS EINSR0 IR0

SIXN" X2 08
EIAbs 2 248 'S 20| (20 AXE 20| 2&

« Babe Ruth: “T hit big, I miss big. I would like to live as big as I could.”

(AFAFRZ) = a + 0.51(2 &) + ¢

— |




1. 2d820AM2 s2HE5 Atdl

(A2 =a+p(EHF) te
b = 2.40 (> 0.51)



D

—
[

MU A2 S2AH=4 ALY

: E8& on (BB and Et &= ]

OfH
fol
H
Bl
Jx

2= EXAN=Z2 0IF0HA “0|2H” Xtz 0| S0t S3AHZ24 0|=2otH SHH
LEHO=Z Ete = S
Sclll B2 ttite 2 A st &'E L] =20 g8 5= &0l &8

(&) =a+ B (BEF) + B(EtH ) + e




02
l
=
S
0[O0

2 AE0 Uie Al &= 40
BHE AtE0IH, 22l bict S EAE A 532 I2AH &=2] XI0IS
g, Ats] ZHEQ 2410 22 A0 et 8= 0 A—HAH FUH S X0l
JtHEHA ELI=I?



>
B
KH
I

I3
=0

NS

—r

KH0

R
=Y
K
=

I3
H0

NS

—r

KH0

70
ur

2.7
3.9
4.1
1.1
1860

30.3
162.7
50.2

3504

29.6
162
50
2200

28
83
17

3.4
4.3
6.8
1.2
2575

33.4
173.7
69.3
4833
22
89
11

32.2
173
68
3
3500

01 &4 (%)

01 44(%)

=
=

(%0)

|

i

=
=

F

LtOl
&l & (em)
H = (kg)
CH
CH

LIOl= Lt

0l
uln
oL
o}
ol

o
IH
R0
u

I
Al

oll

0l0
HH

ar
ol

Ol

-t
0%

0lJ
THO
o)

|
ml

4

0l

-t

KO

</
~

-t
ol

4



1. 2d820AM2 s2HE5 Atdl

ZEFESIAY RIS

Uy
ol
=
01
Al
Jx

== (SESI: Socio Economic Status Index)
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Jt8 & Xl= (FBI: Family Background Index)
- ol ad ROl A, RO M 2 MEHF, FL2 0I&HZ, SH2H S
LZol= RI=2 3AI0IM &4
=1 o

A= ZIMat =2ttt =gt Ho HE&EIX Mg S22t FUd B2 HEEX
SESI 341 73 100 72 11 33.2 71 99.7 70 1
PAI 21 80 100 76 12 14 82 100 79 1
FBI 7.6 54 99.3 54 19 7.6 62 98.1 61
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EPISRIE= o Ktel S
=X =LAt ESPSIN H=2At
SESI 0.0123 0.0130 0.0191* 0.0014
PAI 0.0319* 0.0034 0.0118* 0.0027

FBI 0.0139* 0.0053 0.0029 0.0087
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1991 2013  7.72 1999 3.19 1.89 2007 1247  3.89
1992  21.95  4.51 2000  5.16 3.44 2008 11.96  3.75
1993  17.54  6.35 2001 8.53 2.64
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